CONTEST TERMS AND CONDITIONS "VALK EXCLUSIEF CONTEST"

General

- 1. These contest terms and conditions (hereinafter: the Terms) apply to the "Valk Exclusief " (hereinafter: the Contest) organized to promote Valk Exclusief.
- 2. The organizer of the Contest is Valk Exclusief, located at Winthontlaan 4, 3526 KV Utrecht, registered with the Chamber of Commerce under number 27380247 (hereinafter: the Organizer).
- 3. The Contest applies to the Organizer's hotels at www.valkexclusief.nl/geluk
- 4. The Contest runs from Friday, November 1, through Tuesday, January 7, 2025 (hereinafter: the Contest Period).
- 5. The Organizer's Terms and Conditions apply to the Contest. These can be consulted at www.valkexclusief.nl/geluk

Contest Details

- 6. During the Contest Period, participants will receive a contest card with a unique code at the Organizer's hotels. The participant can enter this code on the dedicated contest site, www.valkexclusief.nl/geluk, and confirm their entry. The Contest will also be promoted through the Organizer's online channels.
- After confirming participation, the participant is required to provide their gender, first name, last name, postal code, street name, house number, date of birth, and email address.
 Optionally, the participant may provide their phone number.
- 8. If the participant provides their phone number, they may be contacted by Lotto and Eurojackpot for telemarketing purposes.
- 9. Participation is only valid if all required fields are completed truthfully and accurately.
- 10. A participant may enter multiple times but can win only one prize.
- 11. Participants' personal data will be treated confidentially and processed in accordance with the Organizer's privacy statement, available at www.valkexclusief.nl/geluk

The prize package (including VAT) for this Contest consists of:

Prijzenpakket voorstel Valk Exclusief Gelukslot actie 2024/2025	Aantal	Eenhei	dsprijs incl. BTW	Totale waa	rde incl. BTW
Hoofdprijs:					
"VIP voor heel even"	1	€	3.500,00	£	3.500,00
- Diner voor 10 personen					
- Interview voor het magazine					
- 2 x extra suitedream (arrangement) overnachtingen op basis van 2 personen op een ander					
moment					
Overige prijzen:					
Valk kookboek: De hoge vlucht	6	£	28,95	£	173,70
Jan van Haasteren Van der Valk puzzel	10	£	25.00	£	250.00
Regioboeket bloemen	1	£	35.00	£	35.00
Overnachting voor 2 + ontbijt in Kasteel Bloemendal (kasteelkamer)	1	€	250,00	£	250.00
Overnachting voor 2 + ontbijt in Kasteel Terworm (kasteelkamer)	1	£	250.00	£	250.00
City break arrangement hotel Haarlem 2 pax in een deluxe kamer	1	€	350,00	€	350,00
Relax arrangement hotel Eindhoven-Best 2pax in een comfort kamer	1	€	350,00	£	350,00
City break Deventer arrangement 2 pax (2 overnachtingen + ontbijt) in een comfort kamer	1	€	400,00	£	400,00
Giethoorn arrangement hotel Wolvega 2 pax (2 overnachtingen + ontbijt + boottocht)	1	€	400,00	£	400,00
E-bike arrangement hotel Apeldoorn 2 pax (overnachting + ontbijt + e-bikes)	1	€	400,00	€	400,00
Wellness arrangement hotel Tilburg 2 pax (overnachting + ontbijt + massage t.a.v. 30 min)	1	€	450,00	€	450,00
Diner bij een Valk Exclusief hotel voor maximaal 10 personen (maximale waarde € 800,-)	1	€	800,00	€	800,00
Diner bij een Valk Exclusief hotel voor maximaal 5 personen (maximale waarde € 400,-)	2	€	400,00	€	800,00
Valk Cadeaucard t.w.v. € 100,-	10	€	100,00	£	1.000,00
Valk Cadeaucard t.w.v. € 50,-	10	€	50,00	£	500,00
Valk Exclusief Restaurant cadeaubox	10	€	80,00	£	800,00
Valk Exclusief Nachtje weg cadeaubox	4	€	139,00	£	556,00
Valk Exclusief Weekendje weg cadeaubox	4	€	275,00	€	1.100,00
Valk bij je Thuis Pakket	5	€	40,90	£	204,50
Valk Scent Geurstokjes	5	€	32,95	€	164,75
Valk Scent Geurspray	5	€	39,95	€	199,75
Hoofdkussen 60 x 70 cm	5	€	39,95	£	199,75
Valk Professional Koffiebonenset (1 Café Crème + 1 Dark Roast)	5	€	30,90	£	154,50
Valk Scent Geurset	1	€	72,90	£	72,90
Heel Staatslot zonder XL	100	€	17,50	€	1.750,00
Swiss Sense Heritage boxspring	1	€	1.690,00	€	1.690,00
Gazelle fiets Grenoble C7 Plus HMB 2024	1	€	3.299,00	£	3.299,00
TOTAAL	194			€	20.099.85

The prize package has a total value of € 20.099,85 including VAT.

Eligibility for Participation

- 13. Participation is only open to residents of the Netherlands who are 18 years or older at the time of participation.
- 14. Participation is excluded for employees of the Organizer and/or others involved in the creation of the Contest.
- 15. The Organizer reserves the right to modify, suspend, or terminate the Contest at its discretion, provided this does not disadvantage the participant. Any changes will be announced on the contest website. If there is a reasonable suspicion of unlawful interference with the Contest, abuse, or fraud, the Organizer reserves the right to exclude participants and/or disqualify entries.

Winner Determination and Prize Distribution

- 16. On Wednesday, January 8, 2025, the prizes will be drawn randomly and impartially by a selection committee under the supervision of a notary.
- 17. The winners, including the grand prize winner, will be contacted between January 8 and January 10, 2025 (week 2). If the winner has provided a phone number or email address, they will be contacted via these means first.

- 18. If a winner cannot be reached within one month of the draw date, the prize will be forfeited and awarded to an alternate winner, who will be selected simultaneously.
- 19. Physical prizes will be sent by registered mail. The Organizer is not responsible for any prizes lost or damaged during mailing.
- 20. The "Valk Exclusief hotel stays" prize can only be redeemed outside holiday periods or public holidays and is subject to availability.
- 21. The winner cannot transfer the prize to someone else, nor can the prize be exchanged for cash or other prizes.
- If a prize has a value of at least €449, the Organizer will withhold the applicable gambling tax.The prizes are listed as net, and the winner does not need to pay gambling tax themselves.
- 23. The prize and/or its residual value cannot be exchanged for cash or other prizes.
- 24. In case of incomplete or incorrect participant details, suspicion of unlawful influence on the Contest, abuse, or fraud, the Organizer reserves the right to disqualify participants or revoke a prize (even after it has been awarded). In such cases, the prize will go to the next reserve winner.

Publicity

- 25. If the winner agrees to participate in publicity for the Organizer, their reasonable wishes will be respected.
- 26. The winner is not entitled to any compensation and waives any claims related to publicity or publication as described in these Terms. All publicity and related materials (including images) will become the sole property of the Organizer.

Questions/Complaints

- 27. Contest participants can submit complaints regarding the award of prizes within 30 days of January 7, 2025, in writing via email to helpdesk@valkexclusiefgeluk.nl.
- 28. Any complaints received after this period will not be processed, and the participant's rights will expire.
- 29. Questions and complaints regarding the Contest can be submitted via helpdesk@valkexclusiefgeluk.nl
- 30. No correspondence will be entered into regarding the Contest Terms. In cases not covered by these Terms, the Organizer's decision is final.

Withdrawal of Consent

31. You may withdraw your consent at any time by sending an email to helpdesk@valkexclusiefgeluk.nl

Final Provisions

- 32. By entering their email address, the participant will receive a € 5 Valk Bonus. The bonus can only be redeemed once on an online reservation at a Valk Exclusief hotel. If a booking has already been made, the bonus cannot be applied retroactively.
- 33. The Organizer and other parties involved in the Contest are not liable for any (consequential) damages incurred by participants or third parties arising from the Contest.
- 34. All intellectual property rights relating to the Contest, including but not limited to texts, images, layout, software, and other information, are the property of the Organizer.
- 35. The Contest is organized in compliance with the Code of Conduct for Promotional Games of Chance 2014.